Pre Calculus - Spring Semester

Final Exam - Review 1

1. If sinf > 0 and cos@ < 0 then 8 lies in
quadrant(s)

2. If cosf® < 0 and tan@ > 0 then 8 lies in
quadrants(s)

3. Iftana > 0 and csca < 0 then « lies in
quadrant(s)

4. Express sin45°cos 15° — cos 45°sin 15° as a
trigonometric function of a single angle and

simplify.

5. Express cos35° cos 25° + sin 35°sin 25° as a
trigonometric function of a single angle.

6. Express cos35°cos 25° + sin 35°sin 25° as a
trigonometric function of a single angle.

7. Use trigonometric identities to simplify
sin (3 — 2)

10.

11.

12.

13.

14.

Name

Per/Sec. Date

Use trigonometric identities to simplify
cos (3 +z)

Simplify: cos ( 3—2"- + 6)

Given that sina = —% and cosf = —2, @ and 3

59
are in quadrant III, then sin(a — 8) =

If sinA = %, cos B = %, LA is in quadrant II,
and /B is in quadrant IV, evaluate cos(4 + B).
(Answer in radical form and put everything over
a common denominator.)

If o and 3 are second-quadrant angles and

sina = % and sin 8 = %, find the exact value of

cos(a — f3).

If tana = % and cosa < 0, find cos 2a.

If csce B = ~%3 with /B is in quadrant III. What
is the value of sin(2B)?



15. If cscA = —g with /A is in quadrant III. What
is the value of cos(24)?

Simplify.

16. sin@ + cos? 6 + tan2 6

17. sec?6 — tan? 8 + cot2 6

18. cosfsecl — it

sec §

Verify each identity.

cscl

e R I}
tan @ + cot 0 -

t
20. ———1+, i = cscH + sech
sin 6

cotf —1
21, —— =cotd
1 —tané e

22. (sinf+ cosf)? — 1 = 2sinfhcosb

23. (cotf+1)2 —2coth = csc? 6

24. Express 8sinz cosz in terms of a single
trigonometric function.

Simplify.

cos@

25. cosfsech —
sec

Verify each identity.

cosf+sinf cosf —sinf

26. = Osect
b cosf & sin 6 it
97. Simplify 2cosz
. Simplify:
P sin 2z
sin @
28. Simplify: ———
8. Simplify 15 cosd

sin 3 + tan 8

29. Simplify: T+ cosd
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Verify each identity.

30.

sin 6
0 t = ———
cscf + co = ooad

Solve.

31.

32.

33.

34.

35.

36.

2cos?0+ Tcosf =4

2sin20 = 9sinf + 5

2sin?20 =sinf + 1

2sinf - cosf = sin 8

2cos? 6 +sinf = 2

Find all values of z that satisfy sin2z = 1 for
0<z<27.

Solve.

37. 3sin?6 = cos? 0

38. cos?f — 3sinf =3

39. sin?0 —3cosf =3
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TRI NH 25
CM1 II 29
CM1 II 18
CML1 II 48
CM1 1J 54
TRI QA 49
TRI QC 70
TRI QC 42
TRI QA 57
CM1 IH 50
TRI QE 16
TRI QE 52
TRI QE 5
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2. . III
5. cos10°

8. —sinz

35 —2V7

12

11.

120
14. 169

17. csc?@
20.
23.
26.
29. tanp
32. Iz

3. 0, &, ¥ 7

3
38, S

2.  TRI NH 26
5. CM1 II 27
8. CM1II 13
11. CM1 II 59
14. CM1 1J 48
17. TRI QA 52
20. TRI QC 67
23. TRI QC 41
26. TRI QC 93
29. CM1 IH 54
32. TRI QE 15
35. TRI QE 27
38. TRI QE 29
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TRI NH 30
CM1 1I 34
CM1 II 11
CM1 1I 56
CM1 1J 46
TRI QA 57
TRI QC 71
CM1 1J 38
CM1 IH 34
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TRI QE 13
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